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e Python 3.7.0 Shell = 1=
File Edit Shell Debug Opticns Window Help

Python 3.7.0 (v3.7.0:1bfS%cc5093, Jun 27 2018, 04:06:47) [MSC v.1%14 32 bit (Inte
1)] on win32

Type "copyright", "credits"™ or "license ()" for more information.
Fx> Z2¥%10000+0.2
Traceback (most recent call last):
Fil yshellf#0>", line 1, in <moduleX>
2%%*10000+0.2

OverflowError: int too large to convert to float
>»> 2.62764874764353
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3 ==

x+y => 10

(x==0) or (y !'= z)

2%*xx => 4

(10+y <= 5.4) and (x*z > 4)
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1 (True)
0 (False)
2.312 (True)
0.003 (True)
0.0 (False)

-343 (True)
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True and False

True and 1

3 or -5

(10+y <= 5.4) and (x*z > 4)
x or (z !'=3)
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True and False (False)
True and 1 (True)
3 and -5 (True)
(56 <= 5.4) and (10 > 4) (False)
1.2 and (0 !=3) (True)
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True or False (True)

True or 1 (True)
0 or O (False)
(5 <= 5.4) or (10 < 4) (False)
1.2 or (0 '=0) (True)
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not (False) (True)
not (True) (False)
not (1) (False)
not (0) (True)
not(3 > 2) (False)
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not((x > y) and (z ==0))
(x*xx +1 < 0) or not(y)
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"hello"
'hello'

= "hello world"
'23ahdagb'
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File Edit Shell Debug Options Window Help

Python 3.7.0 (v3.7.0:1bf%cc5093, Jun 27 2018, 04:06:47) [MSC v.1914 32 bit (Inte
1)] on win32

Type "copyright", "credits™ or "license ()" for more information.
>»> x="hello"

x> y=" world"

>>> xty

'hello world'

x> m¥4

'hellchellcochellohello!

3> y*3

' world world world'

>>>
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File Edit Format Run Options Window Help

import numpy 25 np

X = np.array ([
[_2r4r_l]r
[4rlr_l]r
[lr 6: _1] r
[2r 4: _llr
[Er 2: _llr

1)

np.array([-1,-1,1,1,1])
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perceptron_sgd(X, ¥):
w = np.zeros (len(X[01))
#eta = 1

epochs = 20

for t in range (epochs):
for i, ¥ in enumerate(X):
if (np.dot(X[i], w)*Y[1]) <= 0O:
w=w + X[1i1*¥Y[i]

return w

w = perceptron_sgd(X,y)
print (w)

o2l e TSN 0 iz S5 0553 oS el Sl 5 008 B 0l slaasl 5,5

Fo Lpd g g Tt 3 gy Sy s Sl amy 558 g b s G LS b im0 @
Sl ad g Ll gws SO L ks s



x = "hello" y =23 #  (error)
x = "hello"
y =23 #  (correct)
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x = "hello" # (error)
y = 23

x = "hello"

y =23 #  (correct)

x = "hello"

y = 23
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# x = "hello"

# y is an integer
y = 23
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for = 23 (error)
while = "hello" (error)
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print ("hello")
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x = 345
print(x)
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X "Hello"
y = "world!"
print(x,y," This is a good day.")

Hello world! This is a good day.

sep ek O Ol e 398 Sl ol aslaﬁstbw&ﬁsﬁ@&jﬁb&&&pmﬁ\ﬂﬁ\

..3; oslanl
x = "Hello"
y = "world!"
print(x,y," This is a good day.",sep= "---")

Hello---world!---This is a good day.
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x = "Hello"

y = "world!"

print (x)

print (y)

print( "This is a good day.")

Hello
world!
This is a good day.
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x = input(

s Ol 6l bl SO Olge s Clr S Gle el 2005 (38 51 S Sl sl
AS 4 g 3 Je 4 ls input

x = input("Please enter a name:")
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x = input("Please enter a name:")
print ("Hello",x,"!")
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